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Name: \46\{} | Date: - ~ Clasgs: '

~pulling it 2t %@@M@?

» Throughout this unit, you have learned several ways to model iinear relationships. You have also
* learned ways to move back and forth between tables, graphs, and equations to solve problems. The
: next problem pulls some of these ideas together.
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 Today is chentals birthday. er qrandearther qave ket some money as a birfhday giet. chenfdl plans fo

. pOT ber birThday money in @ safe place and add part of ber allawance To it each Leek. ter sister, Chanice,

= wanTs o knold hotd moch Their grandfathen qave ker and bl much of ke llolsance she is plensing To

» save each Week. As Vsval, chantal doss not anstwer ber sister directly. Tnstead, she wants ber to figure

> oot The ansluer For keroelf, .. |
¢ 1. Hotw much of ber allovance is Chantdl

After five weeks, | will kave saved a total of $175 | planning o save each teek?
After gight weeks, | will have savad 190, $ 5 W eek

e 9 e & @& @ 2 B @

. Bals moch birThday money did Chantdls grendsather give her? 150

3. Write an equation for {he foTal amoont of mansy, 4 chantal will kave saved affer n esks. What
information do The y-infercept and slope represent in This confext?

A= $5N+ISO  or A= |6‘D+Sh

Malcolm is taking o bike repair class. The class costs $120 total. He pays the bike
- shop $15 per week for the class. |
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. 1. Write an equation that fnbdels the relationship between the time in weeks and -
the amount of money Malcolm owes. \/g ~15% {20 ov y—,— 120-15X

2. After three wéehs, how much does Malcolm still owe?

7%

. 3. How many weeks will it take Malcolm to compléteiy pay off the bike repair .
* class? I
: | FwWeeks .
k. Without graphing, describe what the graph of this reldtionship would look like. -
~ Is it increasing or decreasing? Where does the line cross the y-axis? :

~ Decreasing 19 perweel) & Crosses y-axic ar 12.0 :
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Esmeralda peed-to rent a moving truck in a few weeks, and she is looking at two different
compahies to decide which wil] give her the best deal. Company 1 Charges $5 per mile, plus .
mandatory insurance for $20. Company 2's Charges are represented in the table below.

Miles {x) 10 15 20 25
Cost {y) 85 , 120 155 150

1. Who charges more per mile (in other words, Who has a greater rate of change)? How do you
ppany 2 . VEXSUS 5}‘ -
dmpany e Ve M e
2. Who charges more for insurance (in other words, Who has a greater y-intercept)? How db you

Know? _
Chmpany | §zo versas 9 )
3. If Esmeralcla Rhows she will on ¥ be driving the moving truck 15 miles, which company Offers 3

 better deal? COm an \ ( ﬂ ox T 2(’_)3 Cbmmr\\" A
P N y 549120 §l20)
=49%
* Ky Anna wants torvent a , bike to ride one Satumfay It costs $12 per hour to rent the

o bike, plus there is a $20 cleaning fee added on to the total cost. Answer the following
questions based on this situation.
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1. ‘What is the independent variable in this situation? What is the dependent
variabfle? \}/ — \f

X( how®) i (ﬂ Cost %

2, Create a table that mocfe[& the total cost of renting a bike for 2 hours, 4 hours, 5
hours, and 8 hours.

b
$ 3
80
gl

3. Write the equation in slope-intercept form that Teprese’nts the scenario above.

-\7/': SI2X+ 20

4. ‘Using your equation, determine how much it would cost to rent a bike forg

ﬁqurs. | \1? \1(60 -|"2,0 |
=128
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